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T AR = 12, 278, 689
X [ T = 11, 396, 689
X T = 10, 522, 340 | F kX iR 2,500 m

RS ¥ 777 45em JEL. Omm HEAKME S 4

T a2 X R 400 m
VRN TE) 28 15em JE 1. Omm Bk Ml a1

T a2 X R 400 m
RS E) ¥ 777 30em L. Omm Bl S 4

T a2 X R 800 m
A TFE) A 15em JE1. Omm HE/KPEAH %L 4

A A R R 39, 000 m
A A KR SERR 15em HE

A A R R 10, 000 m
N AV KPETY ZE 15em JNEA ;

A AR R 5, 000 m
N AV KPETRY B 15em ANk ;

Ay b X R 500 m
A A KR RBRR 30em N ;

X R T = 728, 059 | VAl X R 4 m

A TFE) B 45cm JE1. Omm HE/KPEAH %L 4

T a2 X R 330 m
A TFE) A 30cm JE1. Omm HE KPR A %L 4

T K X R 204 m
A TFE) A 30cm JE1. Omm HE KPR A %L 4

T o X R 31 n
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[EREES = 12, 278, 689
Il R = 2, 247, 000
Il (it L) = 2,247, 000
il T = 14, 525, 689
Bl = 8, 037, 000
T =5 = 22, 562, 689
— R B = 4,587, 311
T =AM = 27, 150, 000
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